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1. Jaguar Plc, a British firm is traded in London and New York. The beta of Jaguar with the British Stock market is 1.2 and the beta of the British market with the world market is 0.8.

(a) If Jaguar’s stock is priced in the domestic market and the London market increases by 2% and the pound appreciates by 1%, what should happen to the value of Jaguar on the New York stock exchange?

(b) If Jaguar’s stock is priced in a world market and the London market increases by 2%, the world market declines by 1% and the pound appreciates by 1%, what should happen to the value of Jaguar on the New York stock exchange?

2. Calculate the expected return on a Japanese company XYZ assuming the following:

Japanese Market

World Market

XYZ

Expected Return
-1.15%



+9.5%




Beta


(J,W=-0.2


(M=1.0


(xyz,J=1.2

Euro Yen Rate

+5.2%

(a) Risk-free Rate

1%
(b) Calculate the expected return on XYZ assuming it is priced in a world market (integrated).

(c) Calculate the expected return on XYZ assuming it is priced in a domestic market (segmented)

3. Given the following information, calculate (a) a beta assuming Ashahi is priced in an integrated market; and (b) a beta assuming the bank is priced in a segmented market.

CorrA,J=0.85



CorrJ,W=0.35

(A=35%



(s=50%


(W=6%


Key:

1.
(j,d=1.2
(d,w=0.8


(a)
2%(1.2=2.4%
( in London




   3.4%
( in NY

(b)
(j,w=1.2(.8=.96

In London ( .96%



In NY ( 0.04%

(d) 2.
(a)
(xyz,w =1.2(-.2=-.24



E(Rxyz)=.052-.24(.095-.052)=4.168%
(b)        E(Rxyz)=.052+1.2(-.0115-.052)=-2.42%

(e) 3.
(a)
(A,J=.85(.35=.595

.5
(f) 

(J,W=.35(.50=2.92

.06
(g) 

(A,W =.595(2.92=1.73
(h) 
(b)
(=.85(.35=0.595


        .50
